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Section : English Language (Basic Knowledge)

Q.1 Select the most appropriate ANTONYM of the given word.

TAME
Ans 1. Control

2. Upset

3. Restrain

X X € X

4. Sanctify

Question ID : 8161611820
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate meaning of the given idiom.

Reinventing the wheel

Ans x 1. Disturbing the system which has already been in use
x 2. Examining circumstances that have already been understood
“ 3. Wasting one’s time for things that have already been satisfactorily done

x 4. Analysing various factors of happenings

Question ID : 8161611823
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate synonym of the given word.

TARNISH
Ans x 1. Heighten
2. Decorate

3. Damage

X € X

4. Appease

Question ID : 8161611829
Status : Answered
Chosen Option : 2

Q.4 Select the correct indirect form of the given sentence.

Nakul asked her, "How do you know that Rahul has told it to him?"



Ans x
1. Nakul asked her how she knew that Rahul has told that to him.
J 2. Nakul asked her how she knew that Rahul had told that to him.
X 3. Nakul asked her that how she knows that Rahul had told that to him.
x 4. Nakul asked her that how she has known that Rahul has told that to him.
Question ID : 8161611807
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.
Forest fire always (1) by one of two reasons — naturally caused or human-caused. Natural fire is
generally (2) by lightning, with a very small percentage (3) by spontaneous combustion of
dry fuel such as sawdust and leaves. (4) , human-caused fire can happen (5) any number of
reasons.
SubQuestion No : 5
Q.5 Select the most appropriate option for blank No. 1.
Ans
x 1. takes up
J 2. happens
x 3. creates
x 4. causes
Question ID : 8161611811
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.
Forest fire always (1) by one of two reasons — naturally caused or human-caused. Natural fire is
generally (2) by lightning, with a very small percentage (3) by spontaneous combustion of
dry fuel such as sawdust and leaves. (4) , human-caused fire can happen (5) any number of
reasons.
SubQuestion No : 6
Q.6 Select the most appropriate option for blank No. 2.
Ans
x 1. troubled
x 2. reasoned
x 3. begun
J 4. caused
Question ID : 8161611812
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

Forest fire always (1) by one of two reasons — naturally caused or human-caused. Natural fire is
generally (2) by lightning, with a very small percentage (3) by spontaneous combustion of
dry fuel such as sawdust and leaves. (4) , human-caused fire can happen (5) any number of
reasons. -

SubQuestion No : 7
Q.7 Select the most appropriate option for blank No. 3.
Ans
1. contributed

2. achieved

3. attained

X X X &

4. gathered

Question ID : 8161611813
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

Forest fire always (1) by one of two reasons — naturally caused or human-caused. Natural fire is
generally (2) by lightning, with a very small percentage (3) by spontaneous combustion of

dry fuel such as sawdust and leaves. (4) , human-caused fire can happen (5) any number of
reasons.

SubQuestion No : 8
Q.8 Select the most appropriate option for blank No. 4.
Ans x 1. Unless
« 2. On the other hand
x 3. At the outset

x 4. Consequently

Question ID : 8161611814
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

Forest fire always (1) by one of two reasons — naturally caused or human-caused. Natural fire is
generally (2) by lightning, with a very small percentage (3) by spontaneous combustion of
dry fuel such as sawdust and leaves. (4) , human-caused fire can happen (5) any number of
reasons.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank No. 5.

Ans x 1. hence forth
2. because

3. since

L XX

4. due to

Question ID : 8161611815
Status : Answered
Chosen Option : 4

Q.10 In the sentence identify the segment which contains the grammatical error.

Some of the issues discussed on the media nowadays has no relevance to the nationbuilding process.
Ans x 1. on the media nowadays
2. to the nation-building process

3. Some of the issues discussed

L XX

4. has no relevance

Question ID : 8161611809
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is
no need to substitute it, select ‘No improvement’.

The selection to the police department raised him as high to a kite.
Ans , 1. as high as
2. so high so

3. No improvement

X X X

4. so high to

Question ID : 8161611819
Status : Answered
Chosen Option : 1




Q.12 Select the most appropriate ANTONYM of the given word.

DISPUTE
Ans J 1. Concede
2. Quarrel

3. Strengthen

X X X

4. Impute
Question ID : 8161611821
Status : Answered
Chosen Option : 1
Q.13 Select the most appropriate meaning of the given idiom.
Falling head over heels
Ans X 1. Feeling deep sympathy to the needy
x 2. Finding fault with others
J 3. Falling deeply in love with someone
x 4. Fixing models without proper analysis
Question ID : 8161611822
Status : Answered
Chosen Option : 3
Q.14 Select the most appropriate synonym of the given word.
PLEASANT
Ans x 1. Tedious
x 2. Tiresome
J 3. Refreshing
X 4. Exasperating
Question ID : 8161611828
Status : Answered
Chosen Option : 3
Q.15 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is
no need to substitute it, select ‘No improvement’.
She is tender-hearted by nature and | have found her eyes moist many a times over the sad face of any
children.
Ans X 1. many a time
J 2. No improvement
X 3. many time
x 4. s0 many a times
Question ID : 8161611818
Status : Answered
Chosen Option : 1




Q.16 Given below are four jumbled sentences. Out of the given options pick the one that gives their correct
order.

A. The driver had a cloudy look and drove off without taking him.
B. He asked a taxi driver to take him to the shopping mall.

C. He told the driver that he could pay the fare by card, not in cash.
D. He arrived on the outskirts of a city.

Ans 1. CDBA
2.DBCA

3. ACDB

X X & X

4. DCAB
Question ID : 8161611817

Status : Answered
Chosen Option : 2

Q.17 Select the wrongly spelt word.
Ans J 1. Compromize
2. Sympathize

3. Scrutinize

X X X

4. Colonize
Question ID : 8161611824

Status : Answered
Chosen Option : 2

Q.18 In the sentence identify the segment which contains the grammatical error.

Cats cannot be blamed for its behaviour to their masters as they are tamed so.
Ans x 1. to their masters

2. Cats cannot be blamed

X
J 3. for its behaviour
X

4. as they are tamed so
Question ID : 8161611808

Status : Answered
Chosen Option : 1




Q.19 Given below are four jumbled sentences. Out of the given options pick the one that gives their correct

order.
A. He was on a pilgrimage to Jerusalem.
B. The villagers were kind though doubtful.

C. They offered him some food to eat and a room to stay.
D. One night, he took rest in a village unfamiliar on the way.

Ans 1. DCAB
2. CADB

3. ADBC

X € X X

4.CDBA

Question ID : 8161611816
Status : Answered
Chosen Option : 1

Q.20 Select the word which means the same as the group of words given.

A person living in the same age with another
Ans x 1. Confidant

2. Collaborator

3. Partner

QXX

4. Contemporary

Question ID : 8161611826
Status : Answered
Chosen Option : 4

Q.21 Select the wrongly spelt word.

X

Ans 1. Tolerate
2. Temperate

3. Accomodate

X § X

4. Promulgate

Question ID : 8161611825
Status : Answered
Chosen Option : 3

Q.22 Select the most appropriate word to fill in the blank.

Ans x 1. impartiality
2. contentment

3. prejudice

X § X

4. empathy

Unnecessary suspicion and lack of trust against the others are caused by

Question ID : 8161611831
Status : Answered
Chosen Option : 2




Q.23 Select the word which means the same as the group of words given.

A situation requiring a choice between equally undesirable alternatives or confusions
Ans x 1. Sophistication
2. Complication

3. Instability

L XX

4. Dilemma

Question ID : 8161611827
Status : Answered
Chosen Option : 4




Q.24 Select the most appropriate word to fill in the blank.

Children need special care and from the side of their parents for making them emotionally strong.
Ans X 1. compromise

2. suspicion

3. attention

X € X

4. reflection

Question ID : 8161611830
Status : Answered
Chosen Option : 3

Q.25 Select the correct passive form of the given sentence.

This android can perform all the programmes perfectly well.
Ans x 1. All the programmes can have been performed perfectly well by this android.
X 2. All the programmes could have been performed perfectly well by this android.
J 3. All the programmes can be performed perfectly well by this android.

x 4. All the programmes could be performed perfectly well by this android.

Question ID : 8161611806
Status : Answered
Chosen Option : 3

Section : General Intelligence




Q1 37 Il 1 TS F A T AFE-sEer # 3o T ) oameE

Ans

o~

Question ID : 8161611851
Status : Answered
Chosen Option : 4

2-2 3 Rwed & 797 H{ FHe W T § @ G g A gEY §EAT I 9gen §EAT ¥ g
ns

3 & 67 &6 2
v 42,
v 55,
v 222,
v 349,

Question ID : 8161611834
Status : Answered
Chosen Option : 4




Q3 e 3 AT & TER S AN SN FIS U FE, THH g B oA F Oy, AF @ Hr A F
Ans ofer &1 Rar 31 3@ T & T ¥ Far g 22

X od=T
X AT,
Ja.g;né-
X4 Rar

Question ID : 8161611845
Status : Answered
Chosen Option : 3

Q.4

AnS o g arer 1 & srer-arenT FRufRi # A gt e ¥, e oF wew W 1§ 6 % wEI 3R

¥ dE=ur 1 T Bow & Rullg Bew 9T ST @ g ge?

1.

2.

LA X
-hu!\)(ﬂ(n

&

Question ID : 8161611850
Status : Answered
Chosen Option : 3




Q5 =7 ey WPy &1 9T Y T AP X, 3T 0 REY F 79 F eatied & (G & A
& )

Figure X
Ans

7] ] B[22

Question ID : 8161611853
Status : Answered
Chosen Option : 1
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Question ID : 8161611854
Status : Answered
Chosen Option : 3




Q7 37 IF N F TIT FY 3 RE 9 F o7 & Fow 71 FEcaw 7 ¥ HERT Far T

Ans
Agea fRryy, o, far

8086

Question ID : 8161611856
Status : Answered
Chosen Option : 4

Q8 3w Rwew # 9 F{ OwH FH==T # TR & A7 o waY § S R v ggeay & gt
Ans  Fex ¥

(52, 48, 64)

X 1 (70, 62, 441)
X 2 (82, 78, 81)
v = (92, 90, 8)
X 4 (61, 55, 36)

Question ID : 8161611835
Status : Answered
Chosen Option : 3




68 OIS ¥ TH ¥ H, 23 TIF A A ¥ T o AT T e 3k =AY F orer AG o7 &1 17 I
Qo ¥ fFee # s 3 ¥, 24 o e it w F o o ) Few @ A fraw o e o 2

s 4y
X 20,
X 28,
v 21,

Question ID : 8161611832
Status : Answered
Chosen Option : 1

e fARaa e o &, 'sky is blue' F '815' fo@r ST §; 'blue and red' @ '725' for@m ST€T §; 'Ram
likes red' @Y '203' for@T ST &; 'Sita and Ram' @ '379' for@T ST 81 3¥r %e o1 # 'Ram likes
Q.10 blue' # T for@r FrTem?

ae &K 257,
X 512,
v 503,
X 573,

Question ID : 8161611838
Status : Answered
Chosen Option : 3

36 e &1 90 HY forwer Ay WeR-TAg ¥ T& FAY ¢ S gEY HER-HHAE H TgS IMEW-FHE &
gl

Q11 NR:Ml::BK:?

v ¥ YP,
X Yu,
X XM,
X OP,

Question ID : 8161611842
Status : Answered
Chosen Option : 1




36 Rwed & 999 H A e weEl F difes R 39Ut HA F aeiar gl

1. ABwE H1Y

2. fem

3. ¥RT

4. qITIH
Q12 5 TR S
X115, 3, 4,
X251, 2 3,
V351,43,
X451, 4 2

Ans

W N BN

Question ID : 8161611839
Status : Answered
Chosen Option : 3

T 9X ot # @ O v ARua ol @ WO €, S U T ¥ I Ued @ wa
Q.13 I

X1 gug
v > gf&oT anhrer
X > e
X 4 Feag AR

Ans

Question ID : 8161611848
Status : Answered
Chosen Option : 1

38 ed #1 99w Y orme ey aeg @ a8 §9Y § S gEY e # UEd U W g
Q.14EFI'I§‘:3T!I::3.{\?‘(:?

X1 g
v

X,
X =,

Ans

Question ID : 8161611843
Status : Answered
Chosen Option : 2




3 T F IS FY A FEARRT Ao F 9T Rew (?) F TS W AT T g
Q.15 50, 49, 53, 44, 60, 35, ?

e X104,
X 70,
v 71,
X 117,

Question ID : 8161611837
Status : Answered
Chosen Option : 3

3T YG-FIA F TIS HY A @] F AT T HaW g, S AET 0eE-geA & Ae@l F AT ¢
YA : T

Q.l6 3
X L & ger ;9T
X 2 s : are
X3 T - FHEN
J4.=ftv.=r:ar%r

Ans

Question ID : 8161611846
Status : Answered
Chosen Option : 4

T a1v wHEToT & wgfod = & BT Fia @ & Rl AR & FEmet 7 amw 7 aew & afge?
Q17 16 + 8 x 25-15 + 5 = 138

X1 x 3R+ 83k 25
X2+ 3 - 15 3k 5
X3 x 3HR -; 8 AR 25
v x 3T +; 15 3R 25

Ans

Question ID : 8161611833
Status : Answered
Chosen Option : 4
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Question ID : 8161611849
Status : Answered
Chosen Option : 1

HERT & 38 FAS F A HY AT T IR S & N T F HAG T § W A R @
T FHEM|

Q19 K__MKXZ_KX_MK_2ZM

Ans x XZMZK 1.

v  XZMZX,
X XXMKX,
X MzMZX,

Question ID : 8161611844
Status : Answered
Chosen Option : 2




ot ampfa & fraw e 82

Q.20

s P A
X 8,
v 10,
X 9,

Question ID : 8161611852
Status : Answered

Chosen Option : 3

v fAfRad gz s #, 'WORKSHOP' & '231518118191211' foram Sirar g1 38 %e &wr &
Q.21 'NOVEMBER' & Far for@r =eem?

e X 11151251422227
X 13172251325229,
v 14152251425229 ,
X 14142251424228,

Status : Answered

Question ID : 8161611841
Chosen Option : 3

e R g o1 &, 'STAFF' 1 'RTSUZBEGEG' foram STl &1 3307 % s7<T &f 'ORDER' & &
Q.22 @ FreEm?

ae < NQRSCFDFRS,
X OPQTCEDFQS,
X NPQSCEGFQT,
v NPQSCEDFQS,

Status : Answered

Question ID : 8161611840
Chosen Option : 4




36 fed #1 9w F{ WA T # TEE F A 3@ ey § S U v ggeay i geanst
AT g

Q23 (11, 17, 204
X 1 (24, 13, 225)
X2 (9, 13, 147)
v (12, 21, 273)
X 4 (22, 14, 318)

Ans

Question ID : 8161611836
Status : Answered
Chosen Option : 2

9 T FeETeR gUUT T T 3ER-TAg ¥ &S AR I@T A @Y, 99 HeW-TAg F § arer wgr gfafde
T =TT HY

+FGERM

“MA3 O 4
MA3 A
~Md 391
“INAE O

Ans

Question ID : 8161611855
Status : Answered
Chosen Option : 2

Pl o mr-wg & @ &9 w AR ale ¥ T €S9 e smee &1 s eR-aeg
Q.25 FT T FL

e X AEIM,
X RvVzZD,
v SVzD,
X CGKO,

Question ID : 8161611847
Status : Answered
Chosen Option : 3




Ql @5 s} A% & 9T Tl F ¥ F 97a & WiTwe @Fata @ ceiar mar &1 e F sregaT Y 3k
Ans £ T weT @ 3R &

500

India’s Biscuit export

aso
400
350 330
300
250
200
150
100

50

2005 2006 2007 2008 2009
B Quantity ( in lakh tonne )
[l value (in Rs. Crore )

et & awt F oY e e TR A
v 2008 3T 2009
X 22006 3T 2007
X 32005 3T 2006
X+ 2007 3k 2008

Question ID : 8161611881
Status : Answered
Chosen Option : 1

Q.2  uw AR 31,000/ FART ¥l TS g & a1, I 31,160/ FACK § s5H FAS F Frawr gfowra
Ans Eﬁfqﬁ.’g‘é”

X 18%,
X 15%,
v 16%.
X 17%,

Question ID : 8161611862
Status : Answered
Chosen Option : 3

U3 v maEfaEg TEEIT TR F aERe 121 cm? B $6F 0T H SaTS A H

Ans
X 21 cm,
X 20 cm,
X 23 cm,
v 22cm,

Question ID : 8161611859
Status : Answered
Chosen Option : 4




Q4 "
ans TfE 2x = sin @ 311'{'%: cos0 g, ar 4(x2+xi2) FT AT AT FI

X X X<
5 o

s

Question ID : 8161611877
Status : Answered
Chosen Option : 1

Q5 FAw 20 cm 3T 5 cm st % @ g7 §, S v @y # g P W aew w9 & w9 W §AB,
Ans  Fmer: R 3R S &l 9T 34 &7 goat Fr Tl ssafase T W@ 1 AB & oiers fRaer @Rt

X 10 cm,
v 20 cm,
X 5cm,
X 15 cm,
Question ID : 8161611867
Status : Answered
Chosen Option : 4
Q.6
Ans e aR-ams F Rffew aR-megh § Rt & dem @ g @ g e wosemns w5 3R R e
99 FT 3cal &
e
9
8
g b
Z 4
z 3
i
0 o X
40 45 50 55 60 65 70 75
Weight (in kg)
o & @ frw s-wag & Rems & Few sftwas 2
X 45-50,
X 65-70,
v 60-65,
X 40 - 45,

Question ID : 8161611878
Status : Answered
Chosen Option : 3




Q.7
ANs o SR e F O T Fr D F aRg F RfEwe B gt ¥ W #oewwT w3k
T 71T 997 FT 37 &

India's Biscuit export

2005 2006 2007 2008 2009
@ Quantity ( in lakh tonne )
QValue (in Rs. Crore )

2005 # fopw a1w e Y gorem &, 2006 F i H A F e wfowa & P g $r 712
X 50%,
X 100%,
v 25%,
X 75%,

Question ID : 8161611879
Status : Answered
Chosen Option : 3

Q8  FIr o WHY FI FURYT 0= W 5 a9 & T o 3§ 3uR vl 3@ & 37 § qHa F gy &>
Ans  emifiy 1 9/8 s #X feam Af¥E WWoT @S & A H

X 1 3.5% ¥
v 2 25% Ff¥®
X 3 2% arf¥es
X 4 3% ¥

Question ID : 8161611865
Status : Answered
Chosen Option : 2

Q9 wH FX 5 F 150 km Fr gl T Fr &1 IR TE 9 AT e Fr w-TEe woT ¥ @ g
Ans 5 5% gEE g O Fa & fhden 3R @ET wEem?

x1'8‘€iﬁ'
v210 g
X314 g
X129

Question ID : 8161611858
Status : Answered
Chosen Option : 2




V13 Cos@—3tané
2cotd = 3 .
I 2co %,a’r3tano+m5ino FT AT FAT g2

Q.10

Ans

Bl B W Wl Ul =

Status : Answered

Question ID : 8161611876
Chosen Option : 4

qu FHIEHIOT 25— [16— {14 — (18— 8 +3)}] & HAA AT &<
X 15,
v 16,
X 17,
X 14,

Ans

Status : Answered

Question ID : 8161611874
Chosen Option : 2

Q.1zzr'fé‘-a_b= 18 3R a® —b® =324 §, & ab FT AT AT
x -104

Ans
v -102,
X 105,
X 103,

Question ID : 8161611870
Status : Answered

Chosen Option : 2




T el T S H, SIS TGS 1 6 AT AN ANGA F 3 I g1 ARG qww 40 §, & =7 7
Q.13 FI

W, X 2455
v 2440,
X 2450,
X 2445,

Question ID : 8161611873
Status : Answered
Chosen Option : 2

, 39 Ied & Tqier &1 aThe 7 A, Frwehr aRfEr 22 em @

Q.1

A <1385 cm?
X210 em?
X335 ecm?

v % 9625 cm?

Question ID : 8161611871
Status : Answered
Chosen Option : 4

40 FEaTHT @ AT 36 §1 Tgelr 25 HEamt @ dtEa 31 va ifaw 16 w@Eamst @ sditaa 43 g1 2547
Q.15 HEAT AT HfaT]

ws ¥ 23,
X 24,
X 22,
X 21,

Question ID : 8161611860
Status : Answered
Chosen Option : 1

16 AT 16 2 19 & FeIih 9% A F e v Sw, & ag e 7 - 6 g S

Q

A K36,
v 37,
X 35,
X 34,

Question ID : 8161611864
Status : Answered
Chosen Option : 2




u‘%x4+:—4=14159 ?,a’rx+§ & AT T L

X 9,
X 10,
v 11,
X 12,

Q.17

Ans

Question ID : 8161611872
Status : Answered
Chosen Option : 3

AABC & & atfegse AX, BY 3t CZ g L W v g@y & wfo=ofed #wer §1 afy AABC &
Q18m30cm2 &, a TIges BXLZ &1 arswa e grem?

ae < 14 cm? |
v 10 am?,
X 16 am?,
X 12 cm?,

Question ID : 8161611869
Status : Answered
Chosen Option : 2

4 cm Fr @ W At o gea F FA F G H gl 17 om F1 gy THEREr §
Q.lgaiaﬁsﬂ?ra?h

ae & 14 cm,
v 15cm,
X 16 cm,
X 19 cm,

Question ID : 8161611866
Status : Answered
Chosen Option : 2




o I1& X = tan40° 2, G 2 tan50° T AT AT FL|

Ans

Question ID : 8161611875
Status : Answered
Chosen Option : 1

T qEaF F Hfha qEa X150 §1 A 38 30% R 40% Fr & FAG gE W a1 AT §, O $HA
Q.Zlﬁmqwmaﬁrﬁm

v X 264,
v 363,
X 365,
X 366,

Question ID : 8161611861
Status : Answered
Chosen Option : 2

e o AF F uiE q@rer F 3D F ara F AfEwe BT #r g s {1 o @ semae w5y sk
T T g9 & 3ea &

500 + India’s Biscuit export
450 +
400
350 +
300
250
200

2005 2006 2007 2008 2009
@Quantity ( in lakh tonne )
C)Value (in Rs. Crore )

Q'zz%ﬁﬁ,mqﬁﬁﬁwﬁﬁﬁaﬁwﬁsmqﬁ'meﬂ?

e ¥ 2007,
X 2006,
X 2008,
X 2009,

Question ID : 8161611880
Status : Answered
Chosen Option : 4




Ans

X1 70°
X 2 40°
V'3 50°
X 4 60°

Q23 fr | AXYZ =1 offdg ¥ 3l #ior X &1 #@T 40° &, & 2YZL F1 J aer @em?

Question ID : 8161611868
Status : Answered
Chosen Option : 1

Ans

1. 18,000
X 2 16,000
v 3 %17,000
X 4 %19,000

Q.24 v wEAT & 9T TEF 25% W 9T 225,000 F 99 &Y 3PN IW 15% H g o g, ar 98 sw
e 77w W F=ar

Question ID : 8161611863
Status : Answered
Chosen Option : 3

Ans

< 1. %1300
2 2 1500
X 3 1400
v 4 1600

Q.25 waw 3t wfaw FAr: 8 R 3 14 Re # oF T W @ §1 IR gard 7 gw @9 14,400 &
& e Braem $r waETEET?

Question ID : 8161611857
Status : Answered
Chosen Option : 4

Section : General Awareness

Ans

Q.1 WY (WhatsApp) =t &a 3= frar mar ur?
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